MAJOR COMPONENT - Quality Interventions

SUB-COMPONENT - Project Innovation

ACTIVITY MASTER - Project - Innovative Activities (Secondary & Sr. Secondary)

ACTIVITY - Band Competition

1. Progress Report in r/o Band Competition in AWP& B-2019-20

Inter School Band Competition at State Level and facilitate Govt. schools for participation at zonal level, procurement of band equipment.

Outreach: Total **17** Schools of all **13** districts participated in the Inter school Band competition at state level Programme.Rs 1.00 lac surrendered as Rs.50,000/- each had to be given to the first position holders Boys and Girls separately to facilitate for participation at zonal level, subject to the condition of being Govt. schools. Both the winners' schools are public schools.

Total no of Schools participated: 17

- > Total no of Student participated:595
- > Total no of HoS & Teachers participated:35

(Fin. In lac)

Approved as per PAB		Achieved		
Phy.	Fin.	Phy.	Fin	
1	5.0	1	4.00	

The Feedback of the Activity was given by the Students, Teachers, HoS & CRCCs.

It's a good initiative to open opportunities to broad base the Band activity. All the schools participated in the competition were public or Govt. Aided Schools. The participation of Govt. school children was restricted due to non availability of band equipment in their respective schools. Public school students and band instructors enthusiastically participated in the competition. Proper advocacy, facilitation to participating students, motivation to HOSs will enhance the participation.

2. Proposal for Band Competition in AWP& B-2020-21

e) Band Competition:

Objective:

Development of creativity, Stress Management and increase Happiness Quotient by providing an outlet for creativity.

Proposed activity:

Band competition at State Level and participation at Zonal level and facilitate Govt. Schools for procurement of Band equipment, dresses and provide Band instructors.

Strategy:

It is proposed to introduce Bands in 2 schools of each of the 29 Zones to enable the children to learn through musical cohesion and also provide a platform to compete against one another so as to prepare them for the state level Band competition.

Justification/Rationale:

To broad base the band activity, participation in Band Competition must be promoted as it boosts cognitive learning and facilities growth in many areas of human development. Proper advocacy, facilitation to participating students, motivation to HOSs will enhance the participation. Since so many years, this has been observed that No Govt. School participates in State Level Band Competition organised by Samgra Shiksha as the schools do not possess band equipments and Band instructors. Equal opportunities must be provided to the school children of all managements. If introduced, the band would be a great contribution and asset in various functions and will further add charm and beauty to the schools of DOE.

Financial Implications:

(Fin. In lac)

ACTIVITY	Phy.	Unit Cost	Fin.	
Band Competition	1	5.00	5.00	
Introduction of Band	58	6.126	355.308	

(Fin. In lac)

S. No	District	Phy.	Unit Cost	Fin.	
1	East	6	6.126	36.756	
2	North East	6	6.126	36.756	
3	North	4	6.126	24.504	
4	North West A	4	6.126	24.504	
5	North West B	6	6.126	36.756	
6	West A	6	6.126	36.756	
7	West B	4	6.126	24.504	
8	South West A	4	6.126	24.504	
9	South West B	4	6.126	24.504	
10	South	4	6.126	24.504	
11	South East	4	6.126	24.504	
12	New Delhi	2	6.126	12.252	
13	Central	4	6.126	24.504	
	TOTAL	58		355.308	

Expected Outcome:

It will open opportunities to learn values and standards, where they learn to depe nd on one another in their pursuit of excellence. They learn about responsibility, doing t heir fare share and striking a common goal.

3.Recommendation of Technical Support Group (TSG)

4.Costing Sheet of Plan Approval Board

Sub Component	Activity Master	Level	Physical	Unit Cost	Financial (In lac)
	Band Compitition		1	5	5.00
	Introduction of Band		58	6.126	355.308